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Answer either in English or in Assamese.

1. Answer the followi.ng as directed : 1x5=5

e @l o 2eEd Ued il 8

(@) If all the units of a population are
surveyed it is called
(Fill in the blank)

ﬂﬁaﬂﬁw@aﬂwﬁ?ﬂaﬂ (a5 @R T 2,
oI Glaiexd |
(2T A2 97 F)

Contd.




(b)  When the population is

(¢)

(@)

use a stratified sample.
(Choose the correct option)

&SI B %, Wi < wwe
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() too small (I29 ¥=w)

(i) very large = (J2® ©iEd)

(iii) homogeneous (FINANTT)

(iv) heterogeneous ((ITVIFE)

When sample size increases, sampling

errors also increase.
; ' (State True or False)

(v 7 e f77<))

A test that is based on .‘ is
provided by analysis of variance.
. (Choose the correct option)

oY [osae @bt 9 @7Te Higise
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(i) probability Ratio
IS SiS
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(i) variance ratio
YA A
(i) random sample
e effomd
(iv) experimental unit
AT G
(e) The error d.f. in an RBD with 4 blocks

comparing 6 treatments is
(Fill in the blank}

4% 4 651 THBE g €Ol Agee 4@
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Answer any fi.ve questions from the
following : j 2x5=10

wore Al fAepicn Siihr @we T ol 8
(a) Point out the drawbacks of complete
enumeration.

slef Sie SISRPTE SrEd 4 |

(b) Distinguish between observational
studies and sample surveys.

AT SEH e oo TR s
A2y Bl | '
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(d)

(e)

(9)

()

Y

Define non-probability sarhpling.
spTsitel afersr ke Wl |

Under what situation will you preter

RBD over CRD ?
@EReR s TRyl zrf»jiﬁm STOTHAS(H

- e e e Sl fE 2

What is systematic sampling ?

Aol 2fovae &2

Write down the uses of analysis of
variance.

el e 92 i

What are the disadvantages of stratified
random sampling ?

e s efenir SHuTE i e

Define proportional allocation in
stratified random sampling with
example.

e Aee Afera sMAes e

TrizaeE kel Frl |

What do you mean by treatment and

experimental error in design of
experiment ?
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S/ SfeERe THAIDE S R T I
ofi & it ?

() Explain the concept of simple random
sampling.

e TR AfOrEE ARECS i <A

Answer any four questions from the
following : - 5x4=20

wete Tl enPrEs e BIfEIe Tes o ¢

(a) Discuss the basic principles of sample
survey,

el TR WWWWl

(b) What is systematic sampling ? Mention
few advantgages of systematic sampling -
over simple random sampling.

3k2=5
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(c) A population of size 720 was divided

 into 3 strata whose sizes were 360, 240

and 120 respectively. A sample of size

60 is taken from this population using

proportional allocation. Find the sizes

of the samples sclected from each
stratum.
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(d)

(e)

()

@Bl 720 WIHE W R w5 @ 360,

240 WIF 120 SIRPES Ol 41 25 | 98 ANRBE
1 S Afe e e [ 9B 60 Wk

: WWWIWWWWW
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Show that in simple random sampling
sample mean is an unbiased estimate
of the population mean.

2l 1 (Y e Ay foess AfSname aifons! s
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What is meant by AOV ? What are the
assumptions made in it ?

R Restem e 52 3309 oie wfvw
SRR 5 e

Write a note on basic principles of
design of experiment.
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What is completely randomised design
(CRD)?'WI_‘ite down the hypothesis
tested and AOV table in CRD.

sjef A foess st &5 2 7sjef A foess Ao
e TS epeaisl Bl e et R
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(h) Show that in simple random sampling -
with replacement the standard error of
estimate of sample mean is

e

_\/E ;
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Answer any one question from the
following : 10

T T e @b o B i

(@) Explain the principal steps involved in
the planning and execution of a sample
survey.

B o i AR i R
S GG Y2 ANCFPTZ W |

(b) What are sampling and non-sampling
errors ? Discuss briefly.

eifovT o weforte whwe & /e s3tw
B G PR R
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(c) Describe the procedure of stratified
- random sampling. Obtain the variance
of the estimate of the population mean.
: 3+7=10
TG Tioess 2lfop3E #Iwfo0s] el 5 | A
I ST eEel e < -
(d) (1) What is randomised block design ?
State its advantages. %)
qgfoes Qe Sfewsml 2 2T qRaPRE
G |
(if) Fill in the blanks of the following
table : ¢ Hs
w7 {1 FHRfel=ieTe 2Tl SRR 247 4 ¢
Source  d.f. Sum of Squares ~ Mean Square F
B oy A %4 1 i 3
A 6 - - -
Bl _ - 1095 s
Eror  — 10160 —
T
Total 60 18225
£
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